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17[cm] 0

8 = 90[ ]
%
£s=48000 %
=340 %
d=0.17 % M1,M2

[ ,fs]=wavread("d:¥ ¥recordl¥r45-2.wav")
%

Ctsum=zeros(100,1) %100% 1 Ctsum
ysou= ( ,1)

xt=" ( ,2)

taumax=30 % taumax 30 @
% @)

for tau= taumax taumax

Ctsum(tau+31)=xt(taumax+l+tau taumax+1+10000+tau)
*ysou(taumax+l taumax+1+10000)/10000

end

figure(l)
plot( taumax taumax, Ctsum(l taumax*2+1));
[yiiku xjiku]=max(Ctsum) %
xjiku,
yjiku

xjiku=xjiku (taumax+l) % 0 tmax+l



xlabel (" [ 1) %
ylabel (" ) %

whos
hoko=asin(c*xjiku/Fs/d); %

"kaku=",hoko/pi1*180 % [

.

(Dtaumax 30

<

2(t): 1(t T s)

T
M1 ()
TS (T
0s 90[° ]
T, =%/C
=d/c [ 1]
[ ] [
fs

T max=t ., xfs

M2



=d/cxfs [ ]

T max = (0.17/340)x 48000=24 [

o (1)
o (1)

30

)

() TS

1

TS
T max
taumax

24

( +1)



45[° 1]
41.81[° ]

[ 1 41.81[° 1]
450° 1

45[° ] .
171 1



0, =sn*(c T1./d)

[ 1] (taus)[
fs

taus =t , fs
T, =taus/ fs

0, =sin"*(c taus/ fs/d)

0 0
0=0,/7180

0 =sin"(c taus/ fs/d)/ z 180

fs=48000 ( )
=340 « )
d=0.17 ( M1,M2 )

11



[° 1

0.00 0.00
1.00 2.39
2.00 4.78
3.00 7018
4.00 9.59
5.00 12.02
6.00 1448
7.00 16.96
8.00 19._47
9.00 22.02
10.00 24.62
11.00 27.28
12.00 30.00
13.00 32.80
14.00 35.69
15.00 38.68
16.00 41.81
16.96 45.00
17.00 45.10
18.00 48.60
19.00 52.34
20.00 56.44
20.78 60.00
21.00 61.05
22.00 66.44
23.00 73.40
24.00 90.00
(180[° 1 47 )
+ 90[° 1] 1[ 1
+ 90[° ]

12

90[° 1

24



17[cm]
0 +90[° ]

[ ]

[cm]

M2 g1

13



6[° 1 6[° 1

0 4.7802
30 -24.6243
30 -27.2796
30 30
30 32.7972
45 -35.6853
45 -45.0995
45 45.0995
45 41.8103
60 -52.3415
60 -90
60 56.4427
60 56.4427
90 -90
90 -73.4022
90 -56.4427
90 90
90 90
90 90+39.71441
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17[cm] 0
0 +90[° ]
[m] [m] [m]
[ 1]
BN =
5.1[m] 2.8[m]
9.0[m]

16



or 1 im | 2[n] 3[n]
o[ 1

0 2.388 4.7802 14.4775

0 4.7802 4.7802 -12.0247
30 -4.7802 -12.0247 -4.7802
30 -22.0243 -16.9578 -7.1808
30 16.9578 22.0243 22.0243
30 19.4712 14_4775 16.9578
45 -48.5904 -45.0995 =14 4775
45 -45.0995 -56.4427 -56.4427
45 24.6243 30 90
45 45.0995 41.8103 90+16.48i
60 -56.4427) -56.4427 -12.0247
60 -52.3415 -45.0995 -66.4435
60 35.6853 48.5904 30
60 35.6853 45.0995 48.5904
90 -56.4427) -48.5904 -32.7972
90 -66.4435 -66.4435 -9.5941
90 73.4022 56.4427 24.6243
90 90+28.351] 90+23.23i 14_4775
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5.1[m]

11

M2 2.1[m]
q}

=%

|\/|1 4.9[m]

9.0[m]

11

19



or 1| im [ 2[m | 3[m
o[ 1]

0 4.7802 2.388 14.4775
0 2.388 2.388 0

30 22.0243 19.471290+42.761
30 14.4775 16.9578 12.0247
30 -19.4712 -14.4775 -7.1803

30 -4.7802 -2.388090+39.711
45 27.2796 27.2796 73.4022
45 32.7972 24.6243 14_4775
45 -19.4712 -30 -30
45 -14_4775 -9.5941 -30
60 38.6822 32.7972 14_4775
60 24.6243 35.6853 4.7802
60 -35.6653 -27.2796 -19.4712
60 -38.6822 -24.6243 -12.0247
90 48.5904 16.9578 27.2796
90 41.8103 14.4775 7.1808
90 -22.0243 -24.6243 -9.5941

90 -48.5904 -45.099590+42.76i
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13 14
12
0
o[ 1] 1[n] 2[m] |  3[m]
0[]
0 -4.7802 -4.7802 4.7802
0 -7.1808 -7.1808 -4.7802
30 -45.0995 -19.4712 24.6243
30 -41.8103 -32.7972 14.4775
30 61.045 41.8103 45.0995
30 56.4427 32.7972 -35.6853
45 =14 4775 -27.2796 -30
45 -24.6243  -27.2796 -35.6853
45 27.2796 24.6243 24.6243
45 32.7972 22.0243 35.6853
60 -22.0243 -16.9578 -30
60 -19.4712 -16.9578 -27.2796
60 16.9578 22.0243 16.9578
60 19.4712 22.0243 16.9578
90 -52.3415 -16.9578 -48.5904
90 -52.3415 -27.2796 -16.9578
90 56.4427 56.4427 19.4712
90 32.7972 41.8103 32.7972
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or 1 im | 2[m | 3[n]
o[ 1]

1 4.7802 4.7802 4.7802
4.7802 2.388 7.1808

30 1 -16.9578] -12.0247 -14.4775
30 -14.4775 -9.5941 -9.5941
30 1 35.6853 32.7972 27.2796
30 2 32.7972 19.4712 24.6243
45 1 -24.6243 -27.2796 -19.4712
45 2 -19.4712) -14.4775 -14_4775
45 1 41.8103 38.6822 32.7972
45 2 48.5904 35.6853 30
60 1 -38.6822] -35.6853 -30
60 2 -38.6822 -30 -24.6243
60 1 56.4427 45.0995 32.7972
60 2 45.0995 48.5904 45.0995
90 1 -52.3415 -38.6822 -27.2796
90 2 -61.045 -38.6822 -32.7972
90 1 61.045 52.3415 35.6853
90 2 66.4435 48.5904 45.0995
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%

Ts=48000 %

c=340 %

d=0.17 % M1,M2

[ , s]=wavread("d:¥ ¥record2¥032.wav")
%

%
a=0.7

NN=length(y)
y0=y(2:NN, :)-a*y(1:NN-1,:);

Ctsum=zeros(100,1) %100% 1 Ctsum
ysou= 0( ,1) %ysou Y0

xt= 0(C ,2) %xt yO0

taumax=30 % taumax 30

%
for tau= taumax taumax

Ctsum(tau+31)=xt(taumax+1+tau taumax+1+10000+tau)
*ysou(taumax+l taumax+1+10000)/10000

end

figure(l)
plot( taumax taumax, Ctsum(l taumax*2+1));
[yitku xjiku]=max(Ctsum) %
xjiku,
yjiku

28



xjiku=xjiku (taumax+l) % 0 tmax+l

xlabel (" [ 1) %
ylabel (* ) %

whos
hoko=asin(c*xjiku/Fs/d); % [

"kaku=",hoko/p1*180 % [ 1
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M1
M2

a=|a-P-[a-Q

= J(acosg —d/2)* + (asing)? +b* —\/(acosg+d/2)? +(asing)’ + b2
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%
Ts=48000; %

[y,fs]=wavread("d:¥ ¥record6¥a5.wav®);
%

Ctsum=zeros(100,1); %100% 1 Ctsum
ysou=y(:,1); %ysou vy

%

ip=1;

nfft0=2048;

for 11i=1:20

yfsum=zeros(nfft0,1);
Nrep=1

for i=1:Nrep
yl=y(ip:ip+nfft0-1);
yf=abs(fft(yl)).*abs(fft(yl));
yfsum=yfsum+yfsum;
ip=ip+nffto;

end

yfsum=yfsum/Nrep;
%
NFFT=length(yfsum);

x=1:nfft0;
x=(x-1)*(fs/2)/(NFF1/2);

36



ylog=10*log10(yf);
cepl=ifft(ylog);

figure(l);
plot(cepl(3),cepl(4),"0");

hold on
xlabel ("3 ")
ylabel ("4 ")

axis([0 7 0 3D

end

%3

%
%
%
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